Hall Ticket Number:

Code No.: 21008 S

VASAVI COLLEGE OF ENGINEERING (Autonomous), HYDERABAD
' B.E. II Year I-Semester (Supplementary) Examinations, May/June-2016

Finishing School-I : Soft Skills
(Common to all branches)
Time: 1% hours Max. Marks: 35

Note: Answer ALL questions in Part-A and any FI VE from Part-B
Part-A (5 X 2=10 Marks)

1. Rewrite the following sentences. 2]
a) Every man and woman should select the group of their choice.
b) The two first pages in this book are lost.

2. Rewrite the following sentences. 2]
a) Jim is a wonderful piano player. He plays the piano wonderful.
b) A thief has broken into my house last night.

3. Fill in the blanks with the appropriate verb forms. [2]
a) If I had prepared well, I (perform) well. ;
b) The boys (play) in the ground, when the teacher called them.
c) We (submit) the project by January’16.
d) The examination (not, start) yet.

4. Rewrite the following sentences. 2]
a) Everyone on the bus were annoyed by the little boy running up and down the aisle.
b) The Prime Minister, together with his wife, greet the press cordially.

5. Read the paragraph and answer the following questions. [2]

Myths are stories, the products of fertile imagination, sometimes simple, often containing
profound truths. They are not meant to be taken too literally. Details may sometimes appear
childish, but most myths express a culture's most serious beliefs about human beings, eternity,
and God. :
a) The main idea of this passage is that myths:

i) are created primarily to entertain young children

ii) are purposely written for the reader who lacks imagination

iii) provide the reader with a means of escape from reality

iv) illustrate the values that are considered important to a society

b) The parts of speech of ‘profound’ is

Part-B (5 X 5 =25 Marks)
6. a) Write a short note on ‘Definite Article’ with suitable examples. (3]

b) Rewrite the following sentences making necessary corrections: 2]
i) My friend gives me many advices regarding my future career.
ii) He is neither brilliant at languages nor sciences.

7. a) Differentiate between the prepositions besides and beside with suitable examples. [2]

b) Answer the questions following the instructions given against each sentence: [3]
i) None of his friends are good. (Rewrite making necessary correction)
ii) Past participle form of the verb “Be”. Make a sentence using ‘be’.
iii) Past participle form of the verb ‘Do”. Make a negative sentence using ‘do’.

8. a. Explain the difference between Present continuous and Future continuous with [3]
suitable examples.

b) Rewrite the following sentences making necessary corrections: [2]
i) You will get a first class, if you will work hard.
ii) Iam going to college everyday.

Contd... 2




g2 Code No. : 21008 s

9. a) Write any three (3) Subject — Verb — Agreement rules with examples for each. [3]
b) Select the suitable answer for the idioms from the options given: [2]
i) To leave someone in the lurch
1. compromise with someone 2. annoy someone

3. put someone at ease 4. desert someone in difficulties
il) Out and out
1. in a drunken condition 2. completely
3. to drink wine 4. to throw someone out of home
10. a) Read the passage and answer the questions: [3]

Erosion of America's farmland by wind and water has been a problem since settlers
first put the prairies and grasslands under the plow in the nineteenth century. By the
1930s, more than 282 million acres of farmland were damaged by erosion. After 40
years of conservation efforts, soil erosion has accelerated due to new demands placed
on the land by heavy crop production. In the years ahead, soil erosion and the pollution
problems it causes are likely to replace petroleum scarcity as the nation's most critical
natural resource problem.

i) As we understand from the reading, today, soil erosion in America
1. causes humans to place new demands on the land
2. is worse than it was in the nineteenth century
3. happens so slowly that it is hardly noticed
4. 1s the most critical problem that the nation faces
5. 1s worse in areas which have a lot of petroleum production

ii) The author points out in the passage that erosion in America

1. has damaged 282 million acres ever since settlers first put the prairies and
grasslands under the plow

2. has been so severe that it has forced people to abandon their settlements
3. occurs only in areas with no vegetation
4. can become a more serious problem in the future
5. was on the decline before 1930s
iii) It is pointed out in the reading that in America
1. petroleum is causing heavy soil erosion and pollution problems
2. there are many ways to reduce erosion
3. heavy crop production is necessary to meet the demands and to prevent a disaster
4. soil erosion has been hastened due to the overuse of farming lands
5. water is undoubtedly the largest cause of erosion

b) Select the answers of the underlined words from the options given: (2]
i) They resolved to go on strike until their demands were met.
1. desired 2. demanded 3. started 4. decided
ii) The purpose of the conference is to address the major issues raised by the opponents.
1. articulate 2. locate 3.deal with 4. indicate
11. a) Write a short note on Nouns with examples. [3]
b) Write a short note on Auxiliary Verbs with examples. [2]
12. Answer any two of the following: [5]

a) Explain ‘Present Perfect Tense’ with examples.

b) Give the meanings of the idioms and make sentences with the cue words:
i) at the eleventh hour ii) fish out of water

¢) Give the antonyms of the words and make sentences with the cue words:
i) Compulsory i1) Freedom

(CACHEC 2 DR 3} D)




